Year 3 Arithmetic Test 9 teStbase

200 + 100 + 100 =

1 mark
455 +1 =

1 mark
513+ 100 =

1 mark
690 -1=

1 mark
146 - 10 =

1 mark
3x3=

1 mark
165 +? =275

1 mark
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3

—_ " —=
7 7

1 mark
24 -+ 8=

1 mark
256 + 36 =

1 mark
?x5=55

1 mark
?-36=36

1 mark
8l x2=

1 mark
604 + 199 =

1 mark
36+?7=3

1 mark
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Year 3 Arithmetic Test 9 teStbase

371 -34 =

1 mark
=of 40 =

1 mark
835 - 652 =

1 mark
71 x8=

1 mark
—of 40 =

1 mark
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Year 3 Arithmetic Test 9

testbase

Mark scheme

1. 400
2. 456
3. 613
4. 689
5. 136
6. 9
7. 110
g.
7
9 3
10. 292
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11

72

162

803

12

337

183

568

30
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